EARAZROREIERT — 2 N—XBISY —F 2019F7H87H (H) 3MEEM2H

WGl C 2 5 %1% EEEE e
AES] 1 %:200,000 3 ~ 2 7%:52,000@ ~ 37#:28,000 8 ~ 4 %:20,000 8 ~ 5 7 :10,000 3
HEE BERE 0H BE | BT (7B |15 BB | BERE | L¥ [SEE | AR | #E | 956 7R / B/ TERS
EAM . 1-1 A4l = | 1| 429 | TEEE KR
AP PAEEE: 8 ERD iy ® o | kagax
QRS b AT K R by TFRI— e

s B = - 115 (K
2 6| 7—IH # 9 581_?01‘3%% 5(81.)8 2-1 35.5 2 (4+535) g%gk&(*m
T R34 ¥L=2 Bihby—2N H—L— - TvN> - Ty —LERR

. BARA — — 1=EHEZ (KR)
3|77 R=€vT7 # 9 2530 5(9‘1')5 o o1 ! (4_612) HEERR (
:Bernstein B:¥T hA TV A—L— - T vINr - Ty—LERS
N s ARFBE - — RINRE (KR)
+ A4 39 YRNY 4 4 e (2591./92) 3-3 36.1 3 té? Snr
:IA2>77y2a B:Fra-—-Ta EEiEe]
N N o $hR%h :00. —~ . - HEEZ (B&FE)
50111 J—ILF > X/)8d— 4 4 ) 1 (030)4 7-6 36.1 6 (3(255) bl
Rig4XS oML BTl aTIl FR=F 77— L
EATE :00. = . — 1EEHEZ (KR)
N : BRELZEE R -1 e I Y | mem
R:E>r/0704 B:FFaINA147T HET77— L
. i o4 | AMRE 1:00.6 6-7 36.4| — 5 435 | THEfAE (BERE)
7% 4 =t TL—l 54.0 (7€) (+4) MEEE
RNX—HNK BINT 1 2X—=7 el
@ 1 — S —EBIEf
13—7+—
20—F—
Jol=5r= 5,6,2,3,7,4,1
40—F— (5,6),2,3,7,1,4
[ N3
BB 5 180H4 714K 5-6 140H B = 5-6 210 3EHE 5-6-7 1,220M
8 B 5 1209 Galll 390M B H 5-6 290M K31 5-6-7 2,580
6 120/ 6-7 510

ABICOVWTRDTEEERROODE. TR LIV,



